Potencias de 10 (F)

7.8828 = 0.1

2.6166+0.1

6.8696 0.1

5.4338 0.1

1.3853 0.1

7.8311 0.1

8.1449 0.1

8.3393 0.1

4.4953 0.1

4.2864 0.1

Calcule los siguientes cocientes.

2.5909 +0.1

9.8336 0.1

6.017+0.1

4.6601 0.1

2.104+0.1

2.3599+0.1

2.7813+0.1

6.8683 +0.1

1.2572 0.1

5.1739+0.1
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Potencias de 10 (F) Respuestas

7.8828 +0.1
78.828
2.6166 0.1
26.166
6.8696 0.1
68.696
5.4338 0.1
54.338
1.3853 0.1
13.853
7.8311 0.1
78.311
8.1449 - 0.1
81.449
8.3393 +0.1
83.393
4.4953 +0.1
44.953
4.2864 0.1
42.864

Calcule los siguientes cocientes.

2.5909 +0.1
25.909
9.8336 0.1
98.336
6.017 0.1
60.17
4.6601 0.1
46.601
2.104 0.1
21.04
2.3599+0.1
23.599
2.7813 0.1
27.813
6.8683 0.1
68.683
1.2572+0.1
12.572
5.1739 0.1
51.739
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